= _ Y ] - e i

. ™ E ‘.'\. | E ." F o T [a—

"‘.. e b = F . o i
o e e E____J§

" “FINGER'PROTECTION TERMINAI=BLOCK

A

A W

- AT A j"ﬂ'-' W I
= SRR = _. Al MR TR .. .
LR R T . L Y .
R S A L e
N T O .
T S A | ERWSS20

Difect-mounting
assembly terminal block

e W
™
g " UFpSTgp e —
‘ e, e .

T EPS-50 . o ———
FPS-40 —

Rail-mounting
assembly terminal block

e | FPSL,FPWSL series

- - ‘P s C € RoHS

Easy to wiring

Finger protection
1P2X

Visually confirm
the wiring part

Current-carrying part of FPS-10~-80 is the same height Attach and dettach of name plate

You can attach and dettach
it in a longitudinal direction
and a vertical direction.

FPS-10, -20, -20H, -30, -40, -50 and FPS-80 are the same
height from mounting surface to wiring part.

Joint plate (See page 8)

You can assemble just only one joint plate between each capacity.
You can use as a separation for same capacity and insulation for different capacity.
Side plate x2 = Joint plate x1 - -+ 3mm saving per place

—— TOYOGIKEN CO.,LTD.



FP$ Series

@

L

Model No. | FPS-10 | FPS-20 |FPS-20H | FPS-30 | FPS-40 | FPS-50 | FPS-80 |FPS-100 FPWS-10|FPWS-20
Rated voltage 800V 1000V 600V | 800V
Rated current|  15A 22A 22A 30A 40A 50A 75A 95A 15A 22A

Applicable | 0.75~ 1.25~ 1.25~ | 2~ 3.5~ 5.5~ 5.5~ 8~ 0.75~ 1.25~

wire 1.25mm? 2mm? 2mm2 3.5mm? 5.5mm? 8mm2 14mm? 22mm2 | 1.25mm? 2mm2
Terminal M3Xx7.3L | M3.5X7.3L | M3.5X7.3L| M4X8L M4X8L | M5X10L | M5X10L | M6X12L | M3X7.3L | M3.5X7.3L
screw Pan head sems(t) | Pan head sems(£) | Pan head sems(+) | Pan head sems(+) | Pan head sems(t) | Pan head sems(£) | Pan head sems(t) | Pan head sems(+) | Pan head sems(£) | Pan head sems(t)
Tightening | 0.5~ 0.8~ 0.8~ 1.2~ 1.2~ 2.0~ 2.0~ 2.5~ 0.5~ 0.8~
torque 1.2N'm | 1.4N-m | 1.4N‘m | 1.8N-m | 1.8N'm | 3.0N-m | 3.0N'm | 3.7N-m | 1.2N'-m | 1.4N'm
End plate FPS-1E FPS-2E FPS-3E | FPS-4E | FPS-5E FPWS-1E
(Sales lot) (50) (50) (10) (10) (10) (10)
Rating table of certified products N
H US  File NO.E113585
Ralkmounting | FPS-10 | FPS-20 |FPS-20H  FPS-30 | FPS-40 | FPS-50 | FPS-80 | FPS-100 |FPWS-10 FPWS-20
Direct MeaI"8| FPSK-10 | FPSK-20 | FPSK-20H | FPSK-30 | FPSK-40 | FPSK-50 | FPSK-80 | FPSK-100  — -
Rated voltage 600V

Rated current|  15A 19A 22A 30A 35A 50A 68A 95A 16A 20A
APPICBDEWIE | 20~16 | 16~14 | 20~14 | 14~10 | 12~10 | 16~8 = 8~6 | 10~4 | 20~16 | 18~14
% Direct mounting assembly terminal blocks are limited to using prepared conductor only.

Common specification m

Withstand voltage | 3000V/1min Body insulator modified PPE(black) UL94V-0

Impulse withstand voltage | 8KV End plate (L or K) | modified PPE(black) UL94V-0

Insulation resistance

200MQ over(DC500V mega)

Conductive plate

Cooper alloy (Ni plate)

TOYOGIKEN CO.,LTD.

Ambient temperature | —25C~+60°C(No freezing or condensation) Terminal screw Steel (zinc trivalent chromate-plating)
Relative humidity | 45~85% Spring SUS
IP code IP2X Joint plate modified PPE(gray)
Standard JIS C 8201-7-1(IEC60947-7-1)/NECA C 2811

Assembly type Order form

FPSA-[J-%P
A:L =rail-mounting type K=direct-mounting type

[]:10, 20, 20H, 30, 40, 50, 80, 100
% :No. of poles

FPWSL-[]-xU

[]:10, 20
% No. of units

Specification of rail-mounting terminal block

MRating
JIS(IEC) UL/cUL Terminal screw | M3X7.3L Pan head sems(£)
Rated voltage 800V 600V Tightening torque | 0.5~1.2N'm
Rated current 15A 15A Mass 6.4g
Applicable wire | 0.75~1.25mm2 AWG20~16 Sales lot 100
Terminal screw M3x7.3L FPSL-10-xP
40 7. A
16 6 B
8 L=(7XP)+6
ENENECIT L K/
Sl o
AeEdddcare
—P-—f<k =
100666666661
A
M Accessories
No.ofpoles () [1 [2[3[4a[5]6[7][8]910]11]12]13]14]15
End plate FPS-1E(2.3g) Total lengih of terminal (L) | 13 | 20 | 27 |34 | 41|48 |55 |62 |69 | 76 | 83 | 90 | 97 [104/111
Name ol i . Total length of Rail (A) | 60 | 60 [ 60 |80 | 80 [ 80 [100/100[100]120]120[140[140]140[160
ame plate AM-10 (ot el installation pitch (8) | 50 | 50 | 50 | 70 | 70 | 70 | 90 | 90 | 90 |110/110]130/130]130/150
Stopper GTY18 MING3 No. of poles (%) |16 [17 [18 [19 [20 [ 21 |22 [23 |24 |25 [26 [27 [ 28] 29[ 30
Rail DAV (DAS) _ NE Total lenghofteminal (L) [118125[132[139]146|153|160/167 174/ 181/188]195/202/209|216
SNy Total length of Rail (A) |160/160]180[180 [180]200|200|200|220|220|220|240|240|240] 260
| Installation pitch (B) |150[150[170[170[170]190[190]190]210]|210]210]230]230]230] 250
MING | MAx4 ¥When you use DAV4

TOYOGIKEN CO.,LTD.




FPS-20

BRating
JIS(IEC) UL/cUL Terminal screw | M3.5X7.3L Pan head sems(+)
Rated voltage 800V 600V Tightening torque | 0.8~1.4N-m
Rated current 22A 19A Mass 7.58
Applicable wire 1.25~2mm2 AWG16~14 Sales lot 100
Terminal screw M3X7.3L FPSL-20-%P
8 A
6.8 B
8 L=(8xP)+6
B 68312 .8,
] Hﬁﬁi ]
1 o —
L I
M Accessories No. of poles (%) | 1 3[a]5]6]7]8]9]10][11]12][13]14]15
End plate FPS-1E(2.3g) Total length of terminal (L) | 14 [ 22 | 30 [ 38 [ 46 | 54 |62 | 70 | 78] 86 | 94 [102|110[118[126
_ Total length of Rail (A) | 60 | 60 | 80 | 80 | 80 |100[100]120[120|120]140|140]160|160|160
Name plate AM-10 Sebioocs termil Installation pitch (8) | 50 | 50 | 70 | 70 | 70 | 90 | 90 |110[110]110[130/ 130|150/ 150|150
Stopper GTY18 MING3S No.ofpoles (%) |16 [17[18[19[20]21 [22]23[24[25]26]27]28] 2930
: >§ ~ Total length of terminal (L) |134[142]150[158]166]174]182/190]198]206|214]222|230| 238|246
Rail DAV (DAS) = > g Total lengih of Rail (4) |180|180/200200|200/220|220/240| 240|240 260|260|280| 280|280
= Installation pitch (B) |170]170]190]190[190]210/210|230|230]230|250|250|270| 270|270
IIN35| MAX4.5 #¥When you use DAV4
BRating
JIS(IEC) UL/cUL Terminal screw | M3.5X7.3L  Pan head sems()
Rated voltage 800V 600V Tightening torque | 0.8~1.4N-m
Rated current 22A 22A Mass 8.6g
Applicable wire 1.25~2mm> AWG20~14 Sales lot 50
Terminal screw M3X7.3L FPSL-20H- P
40 95 A
16 F_TT‘ 5
| 8 L=(9.5XP)+6
WWO / B 8203 95
Ej LS
g @%@? i 'fifif === ===l 'f7
] 00 Qo GG G Gl G| R R T T
EI \)] — < P =
W efaieiaieialeierar
; o
M Accessories IjD_zws No. of poles (%) | 1 3[4]5]6]7[8]9]10][11][12]13][14]15
End olat FPS-1E(2.3¢) Total length of terminal (L) [15.5] 25 [34.5] 44 |53.5] 63 [72.5] 82 [91.5/101]1105]120[1295139]1485
nd plate 1E(2.3g , Total lengih of Rail (4)| 60 | 60 | 80 | 80 |100|100]120[120/140[140|160[160|180]180| 180
Name plate AM-10 e rminal Installation pitch (B) | 50 | 50 | 70 | 70 | 90 | 90 |110]110]130[130[150]150]170]170]170
MING3S No. of poles (%) |16 [17[18[19[20[21 [22]23]24]25] 26|27 [28[29 ] 30
Stopper GTY18 N 5 Total lenghh of terminal (L) | 158167.5177[186.5|196 20552152245 234 2435 253]262.5|272 (261 5291
Rail DAV (DAS) = K Total length of Rail (A) [200]200(220[220|240[240]260|260]280]280|300[300/320[320|340
Installation pitch (B) |190/190[210[210[230/230|250|250/270|270]290]290/310/310/330
MIN3.5|MAX4.5

¥When you use DAV4

TOYOGIKEN CO.,LTD.

FPS-30

BRating
JIS(IEC) UL/cUL Terminal screw | M4X8L Pan head sems(t)
Rated voltage 1000V 600V Tightening torque | 1.2~1.8N-m
Rated current 30A 30A Mass 13g
Applicable wire 2~3.5mm?2 AWG14~10 Sales lot 50
Terminal screw M4X8L FPSL-30-%P
48 o A
18 8.6 B
10 L=(10XP)+6

WM Accessories

44

26

a0l

—

No. of poles (%) | 1 3]a[5]6]7[8]910[11]12][13]14]15
End plate FPS-2E(2.7g) DAS Total length of terminal (L) | 16 | 26 | 36 | 46 | 56 | 66 | 76 | 86 | 96 |106|116|126|136|146|156
Total length of Rail (A) | 60 | 80 | 80 |100]100]120]120[140]140]160]160]180]180/200]200
Name plate AM-10 S erans terminal Installation pitch (8) | 50 | 70 | 70 | 90 | 90 |110[110]130[130]150]150|170/170|190|190
Stopper HDV-2 MING4 No.ofpoles (%) |16 |17 18] 19|20 21|22 23] 24 |25 [26] 27| 28] 29] 30
: ~ Total length of terminal (L) | 166176 186 196| 206| 216| 226|236 246 256|266 |276| 286|296/ 306
Rail DAV (DAS) EF E Total length of Rail (A) |220]220]240[240|260|260|280/280/300/300]320]320]340] 340|360
Installation pitch () |210/210]230/230|250|250|270]270[290/290]310/310/330[330/350
MING | MAXS ¥When you use DAV4
MRating
JIS(IEC) UL/cUL Terminal screw | M4X8L Pan head sems(z)
Rated voltage 1000V 600V Tightening torque | 1.2~1.8N-m
Rated current 40A 35A Mass 14g
Applicable wire 3.5~5.5mm>2 AWG12~10 Sales lot 50
Terminal screw M4x8L FPSL'40'>:< P
48 11 A

W Accessories

End plate | FPS-2E(2.7g)
Name plate AM-10
Stopper HDV-2
Rail DAV (DAS)

@

No. of poles (%) 1

Applicable
solderless terminal

MINo4

Total length of terminal (L) | 17 | 28

39|50 |61|72|83|94|105/116/127/138|149|160(171

Total length of Rail (A) | 60 | 80

80 /100(100|120|120|140]140]160|180/180/200|200|220

Installation pitch (B) | 50 | 70

70]90|90|110/110/130]130]150|170]170/190/190/210

No. of poles (%) 16|17

181920 |21 |22|23|24|25|26|27 |28 |29 |30

N
N7

MAX9.5

Total length of terminal (L) |182(193

204|215|226|237|248| 259|270 281(292|303|314|325|336

Total length of Rail (A) |220|240

240/260|280| 280,300/ 300|320|320|340|340/360|360|380

\
MING | MAXS

TOYOGIKEN CO.,LTD.

Installation pitch (B) [210(230

230]250|270]270/290/290/310]310|330|330/350|350/370

¥When you use DAV4




FPS-50

TOYOGIKEN CO.,LTD.

MRating
JIS(IEC) UL/cUL Terminal screw | M5X10L Pan head sems(t)
Rated voltage 1000V 600V Tightening torque | 2.0~3.0N-m
Rated current 50A 50A Mass 21.8g
Applicable wire 5.5~8mm? AWG16~8 Sales lot 50
Terminal screw M5X10L FPSL-SO- P
14 A
123 B
10 L=(14XP)+6
—+ B 123,17 14
=
I J[—J[C I J[C—J
E% Y s |1 s ¥ s e 1 8
2 i == 2 | — el o
| C Bhetelaiateiat g |
gy S g IS SN y S SN BN |
 — I — 1 — ) — ) — O —
M Accessories
o TE E[ No. of poles (%) | 1 3l4|5|6|7|8]9]10]11]12]13]14]15
End plate FPS-3E(2.9g) DAS Total length of terminal (L) | 20 | 34 | 48 | 62 | 76 | 90 |104/118|132146|160|174|188/202|216
NETE BT AM-10 _ Total length of Rail (A) | 60 | 80 |100/100120]140|140|160|180/200/200/220|220240|260
P e ermine) Installation pitch (8) | 50 | 70 | 90| 90 [110]130/130]150]170[190]190/210/210[230|250
Stopper HDV-2 NG No.of poles () | 16| 17| 18| 19|20 21| 22| 23| 24| 25| 26|27 | 28|29 | 30
Rail DAV (DAS) NGE Total lengih of terminal (L) | 230| 244|258(272|286300|314/328|342)356|370|384|398|412|426
=h g Total length of Rail (A) | 280]280/300]320|340]340|360|380|380/400|420]420|440|460|480
= Installation pitch (B) |270]270|290|310|330|330|350|370|370/390|410]410]430/450/470
MINZ |MAX6.5 ¥When you use DAV4
BRating
JIS(IEC) UL/cUL Terminal screw | M5X10L Pan head sems(z)
Rated voltage 1000V 600V Tightening torque | 2.0~3.0N-m
Rated current 75A 68A Mass 23.7g
Applicable wire 5.5~14mm? AWG8~6 Sales lot 50
Terminal screw M5X10L FPSL-80-><P
14 A
123 B
I 10 L=(14XP)+6
= B 123_ .17 14
e ] e e e e e
E} 1 o o 1 1
™~ H
N 1IN 1&1®H
& i e —— S
N B 1 O
e e e e e
M Accessories J 15 Er No.ofpoles(%) | 1] 2|3[4a[5]6]7[8]9]10][11]12[13][14]15
End plate FPS-4E(3.2g) G Total length of terminal (L) | 20 | 34 | 48 | 62 | 76 | 90 [104]118[132|146[160[174[188]202[216
_ Total length of Rail (A) | 60 | 80 [100/100[120|140[140/160[180|200(200|220(240|240[260
Name plate AM-10 Installation pitch (8) | 50 | 70 | 90 | 90 |110]130[130/150/170]190]190|210]230|230|250
Stopper HDV-2 MINGS No.of poles (%) [ 16]17[18]19]20]21[22]23|24]2526]27 [28]29]30
: N Total length of terminal (L) | 230|244 258|272|286|300|314|328|342|356 370|384 398|412/ 426
Rail DAV (DAS) IHH o) & Total length of Rail (A) |280|280|300|320]340|340360|380|380/400|420|420(440|460| 480
= Installation pitch (8) [270]270290|310|330/330/350/370/370/390(410|410[430|450[470
MINZ | MAX6.5 ¥When you use DAV4

FPS-100

MRating
JIS(IEQ) UL/cUL Terminal screw | M6X12L  Pan head sems(#)
Rated voltage 1000V 600V Tightening torque | 2.5~3.7N-m
Rated current 95A 95A Mass 44.5g
Applicable wire 8~22mm? AWG10~4 Sales lot 20
r— 9 Terml}n:t screw M6X12L FPSL- 1Aoo- P

WM Accessories

27

56

31

End plate | FPS-5E(4.6g)
Name plate AM-10
Stopper HDV-2
Rail DAV (DAS)

FPS series, FPWS series
Applicable Short-bar

Applicable
solderless terminal

17

B

10 L=(19XP)+6
3 2 17 19

‘r
il

38 HH HH i

Hleleleojell

lelelefele|[i-

MINg6
<3
= =
=5 J‘ E
MINS | MAX9

No. of poles (3%)

112134

6

7

9 |10]11]12]13

14

15

Total length of terminal (L) | 25 | 44 | 63 | 82

120

139

1771196 |215|234|253

272

291

Total length of Rail (A

) | 60 | 80|100/120

160

180

220|240|260]280/300

320

340

Installation pitch (B)

50|70]90|110

150

170

210|230|250]270/290

310

330

No. of poles (3)

161718 | 19

21

22

24 125|26)|27|28

29

30

Total length of terminal (L) |310|329|348|367

405

424

462|481|500/519/538

557

576

Total length of Rail (A) |360|380(400(420

440

460

500|520/540/560|580

600

620

Installation pitch (B)

350/370/390]410

430

450

490/510/530/550/570

590

610

¥When you use DAV4

. Model No.
T%rlrgénkal With insulation cover type Non insulation cover type

Fork Round Fork Round
FPS-10 [1B7A-2/4/6/8/10/50 [JBR7A-2/10/50 SB7A-2/4/6/8/10/50 SBR7A-2/10/50
FPS-20 [1B8A-2/4/6/8/10/50 [JBR8A-2/10/50 SB8A-2/4/6/8/10/50 SBR8A-2/10/50
FPS-20H [1B9.5-2/4/6/8/10/50 - SB9.5-2/4/6/8/10/50 -
FPS-30 [1B10-2/4/10 - SB10-2/4/10/20 -
FPS-40 [1B11-2/4/10 = SB11-2/4/10/20 -
FPS-50 [1B14-2/4/10 = SB14-2/4/10/20 -
FPS-80 [(1B14-2/4/10 - SB14-2/4/10/20 -
FPS-100 - - - -
FPWS-10 [IB7A-2/4/6/8/10/50 [JBR7A-2/10/50 SB7A-2/4/6/8/10/50 SBR7A-2/10/50
FPWS-20 [1B8A-2/4/6/8/10/50 [JBR8A-2/10/50 SB8A-2/4/6/8/10/50 SBR8A-2/10/50
[J=Colorcode:[B]:Black, [G]:Green, [O]:Orange

Red character part : Put the No. of poles. (ex. BB8A-4)

TOYOGIKEN CO.,LTD.




FPS& rie.

@
@

Joint plate

You can use separation for same capacity and insulation for different capacity.
% Check following operating suggestions when you use joint plate.
% FPWS series are not used joint plate.

Sales iot:10

Sales iot:10

Rail-mounting mixed assembly terminal block

Please contact us if you request the products.

| FPS-10-3P: 21mm | [ FPS-10-3P: 21mm | | FPS-3E: 3mm |

FPS-1E: 3mm ] FPS-1J: 3mm \ ] FPS-1J: 3mm \ \ HDV-2 Stopper
H \

| FPS-20-3P: 24mm |

GTY18: Stopper
FPS-3J: 3mm

FPS-50-1P: 14mm

FPS-1J is used as a joint plate for same | | Total length of terminal=95mm (length when you don't use joint plate is 104mm)
capacity f - — —>
— assemble FPS-10-3P and FPS-3P (3mm saving X 3places = total 9mm saving)

FPS-4)

ModelNo.| Materials | Base size Using position Weight
FPS-1J FPS-10,20,20H | Assemble of FPS-10,FPS-20 and FPS-20H / use separation for same capacity and insulation for different capacity 2.0g
FPS-2J - FPS-30,40 Assemble of FPS-30 or 40 and FPS-10, 20 or20H / use separation for same capacity and insulation for different capacity 2.68
FPS-3J mﬁgngE FPS-50 Assemble of FPS-50 and FPS-10, 20, 20H, 30 or 40 / use separation for same capacity and insulation for different capacity 278
FPS-4J FPS-80 Assemble of FPS-80 and FPS-10, 20, 20H, 30, 40 or 50 / use separation for same capacity and insulation for different capacity 29g
FPS-5J FPS-100 Assemble of FPS-100 and FPS-10, 20, 20H, 30, 40, 50 and 80 / use separation for same capacity and insulation for different capacity | 6.4g

Operating suggestions

®Assemble flat surface of joint plate in towards electrode side of terminal block.
@Barrier side of every capacity terminal block should be taken a direction.( Face-to-face assembling is impossible.) (Fig.1)
@®Assemble in proper order (in a direction from small towards large capacity) when you assemble different capacity terminal block.

: : Assemble in proper order
flg 1 flg 2 (in a direction from small towards large capacity)

I | :’\l/
> < Face to face assembling is impossible —

I/
4 1 BN

Barrier side Barrier side Barrier side on left

FPS-1J is used as a joint plate for different FPS-3J is used as a joint plate for different
capacity capacity
— assemble FPS-10-3P and FPS-20-3P — assemble FPS-20-3P and FPS-50-1P

You can set just only one joint plate between each capacity.
You can use as a separation for same capacity and insulation for different capacity.

Side plate X2 = Joint plate X1 -+ 3mm saving per place

TOYOGIKEN CO.,LTD.

TOYOGIKEN CO.,LTD.



10

FP

Double-level type

FP&Z A/ Series

E

FPWS-10

BRating
JIS(IEC) UL/cUL Terminal screw | M3X7.3L Pan head sems(t)
Rated voltage 600V 600V Tightening torque | 0.5~1.2N'm
Rated current 15A 16A Mass 15.6g
Applicable wire | 0.75~1.25mm2 AWG20~16 Sales lot 50

Terminal screw M3X7.3L

7_4

FPWSL-10-%U
A

o B
° 10 L=(7xXU)+9
ﬂ; H/j 25 A6, 7 74 62
ﬁo@@ o HE e e
3 Hoy OIS | R RIRR @ AR |
5 i = I e e e [ e e e e == ]
I U 2~ L TR @Q@J@J@@ N
N 10000 =i - =
S R 0000099990]
S e e |
35 AL X)X (X)) X)) (X (X)) (X)) (X)) (X ) (X
65 ]
: SM No. of units () [ 1 3]4[5]6]7][8]9]10[11][12]13]14][15
M Accessories S Tota ength of teminal ()| 16 | 23 | 30 | 37 | 44 | 51| 58 | 65 | 72| 79 | 86 | 93[100[107]114
End plate | FPWS-1E(13.5g) Rppicable Total length of Rail (A)| 60 | 60 | 80 | 80 | 80 |100]100|100]120|120(140| 140]140| 160|160
N it MALE N\IN Installation pitch (8) |50 |50 | 70| 70| 70| 90 | 90 | 90 |110]110]130]130]130]150]150
SIS - 0 No.ofunits (%) | 16| 17| 18|19 |20 | 21|22 |23 | 24| 25|26 | 27| 28| 2930
Stopper HDV-4 = \ 2 Total length of terminal (L) |121|128|135]142|149(156|163|170(177|184|191]198|205|212|219
Rail DAV (DAS) R NYE: Total length of Rail (4)|160| 180|180/ 180/200/200/200]220|220|220|240| 240|240/260/260
al i Installation pitch (B) |150|170|170|170/190|190|190/210[210|210[230|230|230| 250|250
| %When you use DAV4
MRating
JIS(IEC) UL/cUL Terminal screw | M3.5X7.3L Pan head sems(+)
Rated voltage 800V 600V Tightening torque | 0.8~1.4N-m
Rated current 22A 20A Mass 18.1g
Applicable wire 1.25~2mm2 AWG18~14 Sales lot 50
416 Terminal screw M3.5X7.3L FPWSL-20-%U
16 8 4, _ A
6.8 B
10 L=(8xU)+9
= ) J2512,68 8, 8.4 63
= H ] ] —
1 | e e e
- em'l' wxfﬂxfﬂxxxx
o L o m{ [ e e e e [ e [ =1
S H IQe® @@1@@@@
L O) p— —
(’i &H’ [ h 1 rn 1 rn ™
T Helele ]@@1@@@
| s s s |
AL NP PXPIP@X@@E
- IEEEEEEEEEE]
W AcCcessories 2 5 @ No. of units (%) [ 1 3[4]5]6]7]8]9]10[11]12][13]14]15
DAS Totallength of terminel (L) [ 17 | 25 | 33 [ 41 [ 49 [ 57 [ 65| 73] 81 89 | 97 |105]113[121]129)
End plate | FPWS-1E(13.5g) Total length of Rail (A) | 60 | 60 | 80 | 80 |100]100|100|120|120|140|140| 140|160 160/180
Name plate MA1LE MM;‘; erless terming Installation pitch (B) |50 | 50 | 70 | 70 | 90 | 90 | 90 [110[110[130|130[130|150| 150|170
;’ I3 No. of units (%) [ 16 18]19]20[ 2122|2324 252627 28] 29] 30
Stopper HDV-4 = g Totallength of terminel (L) [137]145]153[161]169]177]185]193]201|209]217|225(233] 241|249
Rail DAV (DAS) = 2 Total length of Rail (A) [180]180]200]200220]220]220]240]240]260|260]260]280] 280/300]
N3 b Installation pitch (B) |170]170|190|190]210|210]210|230|230|250|250|250]270| 270|290

¥When you use DAV4

TOYOGIKEN CO.,LTD.

Direct-mounting assembly terminal block

¥We assemble terminal blocks with your request poles and make the shipment here.

MMaterials
End plate | modified PPE(UL94V-0)
Spring SUS
FPSK: 4.9g
Mass | kps.100k:16.7g

FPSK-10-P

7

MRating
Rated voltage 800V
Rated current 15A
Applicable wire | 0.75~1.25mm?
Terminal screw | M3X7.3L Pan head sems(+)
Tightening torque|  0.5~1.2N-m
No. of poles 1~30P
M Accessories
End plate FPS-K
Joint plate FPS-1J
Shaft SF3
Name plate AM-10

| jointplate |

4.2
A
J

41.2
O

I EES[EE
—

AN ]

\

gp—p_p n o o nn n n o
| | E% MIN®3
[eo)
B [ = \\ g
= o~ \/j =
o~
|| || MIN4 | MAX4
No. of poles (3) 112|3|4|5|6|7|8]9]10|11]12]13|14|15
Total length of terminal (L) | 38 | 45|52 |59 | 66 | 73 | 80 | 87 | 94 |101/108|115[122|129(136

Installation pitch (A) 29|36 |43 50|57 |64|71|78|85]92]99|106/113|120(127
Shaft length 3643|5057 |64 |71|78]85|92]99 |106/113]120/127|134

No. of poles (%) 16 (17 (18 19|20 |21 |22|23|24|25|26 |27 |28 |29 30
Total length of terminal (L) |143|150|157|164|171]|178|185|192|199]206|213|220|227 | 234|241
Installation pitch (A)  |134|141]148|155|162|169|176|183]190/197|204|211|218|225|232
Shaft length 141[148|155|162]169|176|183/190/197|204|211|218|225|232|239

TOYOGIKEN CO.,LTD. ———



JFj _/p \\'J_J/,( OErl

FPSK-20-3P

P

125 3

o

les

2 NinS

4.2

37

11.5

41.2

°U
O
olJ

Applicable
solderless terminal

MIN®3.5

1

22

= N

N
MAX6.7

MIN3.5

MRating
Rated voltage 800V
Rated current 22A
Applicable wire 1.25~2mm?
Terminal screw | M3.5X7.3L Pan head sems()
Tightening torque|  0.8~1.4N-m
No. of poles 1~30P
M Accessories
End plate FPS-K
Joint plate FPS-1J
Shaft SF3
Name plate AM-10

FPSK-20H-3P

=
5=
S
(G}

No. of poles (3%)

111213 | 14|15

Total length of terminal (L)

119(127]135/143]151

Installation pitch (A)

110/118]126|134|142

Shaft length

117|125/133]141]149

No. of poles (%)

26|27 (28| 29|30

Total length of terminal (L)

239|247|255|263|271

Installation pitch (A)

230|238|246| 254|262

Shaft length 237(245|253|261|269,
A 37
3 13.,,82 9.5 115
ISI=E==E o —
Gl [aties e ez e e g | \[°0
q & O
Sillnicsicicis e [o[J
EEEE s —
=== {—
|| MINg3.5
i = \)) 2
~ =
MIN3.5 I\/\ijﬁ

BRating
Rated voltage 800V
Rated current 22A
Applicable wire 1.25~2mm?
Terminal screw | M3.5X7.3L Pan head sems(+)
Tightening torque 0.8~1.4N-m
No. of poles 1~20P
M Accessories
End plate FPSK
Joint plate FPS-1J
Shaft SF3
Name plate AM-10

No. of poles (%)

111213 | 14| 15

Total length of terminal (L)

1355[145|1545/164 |1735

Installation pitch (A)

126(136/145|155|164

Shaft length

133[143|152|162]171

No. of poles (3)

261271282930

Total length of terminal (L)

Installation pitch (A)

Shaft length

TOYOGIKEN CO.,LTD.

FPSK-30-3P

MRating
Rated voltage 1000V
Rated current 30A
Applicable wire 2~3.5mm?
Terminal screw | M4X8L Pan head sems(x)
Tightening torque 1.2~1.8N'm
No. of poles 1~20P
M Accessories
End plate FPS-K
Joint plate FPS-2J
Shaft SF3
Name plate AM-10
FPSK-40-3¢P

L
A 40
14 8.6 10
)l
HIHERFEIHIHEE 9
h/ A h/h by
SO K K Az Ko koo i
[ee)
~ o
ieplepieplicplicaiceicblicpiep
| e e e e e 0
S S
solderless terminal
7 i O I O =
L SE
MING |MAX5
No. of poles (3) 14|15
Total length of terminal (L) 181
Installation pitch (A) 162(172
Shaft length 169|179
No. of poles (3%) 29|30
Total length of terminal (L)
Installation pitch (A)
Shaft length
40

22

MING_|MAX5

No. of poles (%)

14

Total length of terminal (L)

185|196

Installation pitch (A)

176(187

Shaft length

183|194

BRating
Rated voltage 1000V
Rated current 40A
Applicable wire 3.5~5.5mm?
Terminal screw | M4X8L Pan head sems(t)
Tightening torque 1.2~1.8N+m
No. of poles 1~20P
M Accessories
End plate FPS-K
Joint plate FPS-2J
Shaft SF3
Name plate AM-10

No. of poles (3%)

29

Total length of terminal (L)

Installation pitch (A)

Shaft length

TOYOGIKEN CO.,LTD.




FPSK-50-%P FPSK-100-%P
L
R A 43 A 52
1253 17,123 14 15 20 L. 7 19 MAEY
\_1"\_1\;4\;4\_1\_1\_1\_1\_1 o) I 1!‘ I I I11 I11 I J11 J [ |
:L:LC}E}:H:H:H:H:FT il 1 1 1 1 1 1 1 NN
[ ] D]
e PR [N Cleleloolelelelell, 7T
i - - < G) ~ -
| e ARk P Dl . A 9
H ° (= 10 =] o
| — | — | — | — | — | — — § — L\ ) gt an ab an ab ab ap ab i
.Ratlng .Ratlng [ 11T LT 11T LT LT 11T LT 1
Rated voltage 1000V Rated voltage 1000V
Rated CUrfent 5OA B n__ 0 n___ n 0 171717:3 solderless terminal Rated CUrfent 95A ,j} } j} } j} } j} } j} } j} } j} } j} : 7§}\ solderless terminal
Applicable wire 5 5~8mm || =3 || = | === | =3 |= 1\ MING5 - Applicable wire 8~22mm2 MINGG
Terminal screw | M5x10L Pan head sems(<) il 55 EE 55 w H £+4 0] ; Terminal screw | M6 12L Pan head sems(+) A1 I I I I I I I =" ) g
N N N N =
Tightening torque| ~ 2.0~3.0N*m ‘ ‘ a WIN7 IVares Tightening torque | ~ 2.5~3.7N-m i 8 g | axo
No. of poles 1~12P - H No. of poles 1~10P ‘
M Accessories M Accessories
End plate FPS-K Noofpoles(¥) |1 ]2 |3 |4]5]6]7]8]9][10]11]12 End plate FPS-100K No.ofpoles () |1 ]2 |8 |4]5]6]7]8]9][10
Joint plate FPS-3J Total length of terminal (L) | 45 | 59 | 73 | 87 [101]115[129[143[157[171[185[199 Shaft SF3 Total length of terminal (1) | 59 | 78 | 97 [116[135|154[173[192]211[230
Installation pitch (A) 36 |50 |64 |78|92 (106(120(|134|148(162{176|190 Installation pitch (A) 48 | 67 | 86 {105(124(143(162|181(200(219
Shaft SF3 Shat length 43|57 |71 |85 99 [113[127]141/155|169|183]197 Name plate AM-10 Shat length 57|76 | 95 [114]133/152[171]190]209 228
Name plate AM-10
FPSK-80-3%P
43
1253 1.7 T12.3 14
e | e e o | e e e e | | e e
A I ¥ N 1 S W H 1
1RSSR RIS PR -
NN NN N N XN N =) .
R AR AR AR AR A A AR AR AR A FPSK series
HEEEEEEEEE Applicable Short-bar
MRating . Model No.
Rated voltage 1000V T%rlrgénkal With insulation cover type Non insulation cover type
Rated current 75A T n n n n n n n n n — Qc%léfgglsetermina\ Fork Round Fork Round
Aol S 5 1amm El—————— == =] =1} s PSK-10-*P [1B7A-2/4/6/8/10/50 [JBR7A-2/10/50 SB7A-2/4/6/8/10/50 SBR7A-2/10/50
i : 7%%%%%%%%%%7% N FPSK-20-*P | [JB8A-2/4/6/8/10/50 CIBR8A-2/10/50 SBBA-2/4/6/8/10/50 SBR8A-2/10/50
Terminal screw | M5X10L Pan head sems(z) = \ d
: : i H H H H H H H H H H TR J g FPSK-20H-*P [1B9.5-2/4/6/8/10/50 - SB9.5-2/4/6/8/10/50 -
Tightening torque| ~ 2.0~3.0N-m ‘ ‘m NG e s FPSK-30-*P 0B10-2/4/10 - SB10-2/4/10/20 -
No. of poles 1~12P i i FPSK-40-*P | [IB11-2/4/10 - SB11-2/4/10/20 -

A . FPSK-50-*P [(B14-2/4/10 - SB14-2/4/10/20 -
CCessories FPSK-80-*P [B14-2/4/10 - SB14-2/4/10/20 -
Sl FPS-K No.ofpoles(%) |1 ]2 [8[4[6]6[7]8][0][10[11]12 FPSK-100-*P - - - -

Joint plate FPS-4J Total length of terminal (L) | 45 | 59 | 73 | 87 |101|115]129|143|157|171|185|199 ) .
Shaft SF3 Installation pitch (A) 36|50 | 64|78 |92 [106/120/134]148]162/176/190 [J= Color code of insulation cover : [ B ] : Black , [ G ] : Green , [ O ] . Orange
N l 0 Shaft length 43|57 | 71|85 |99 |[113]127]141]155]|169]183|197 Red character part : Put the No. of poles. (ex. BB8A-4)
ame plate AM-1

TOYOGIKEN CO.,LTD. —_— = TOYOGIKEN CO.,LTD.



®
-

QJ
¢

€
(V-

1777 TOYOGIKEN CO.,LTD.

4-8-7 Gongencho, Osachi, Okaya-shi, Nagano-ken, Japan 394-0081
http://www.togi.co.jp E-mail: info@togi.co.jp

3000-16-03



